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The($mallestyeven)number formed by
using the digits 9, 5,0, 2,4 is

q 0% ARA) 20594

' (B) 20459

(C) 02594
(D) 02459
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@'
(1.68+16.32) X0 +85 (24.22
aq‘ag\ x20-100 dT NaFd TATA ﬁ.ﬁ

_0518 I ((1.68+16.32) X0 +85
(24.22 +5.78) x10-200then Chihun will
come in the blank space.

85 @oxap-|oo ’
Rs—— 600-Joo f;::
&{5_/ <$00 | (c)f

(d) $TH & IS el
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@3 _3.1257 @ Y H e

T g fArerdr @:
(Con\_gegt\mg 3.125 to a fraction results in:)
318 = 3ias (NVS 2003)

1900 1 \
2, geg* (1) 3t

(3) 3135 (4) 31)‘—
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L r Q.4 sl f&T STt &1 AT glam
a>'(Square)

(The value of the following expression will be)

.

a =qxa=9

91 =9x9 =R\ \ At 1?o++@
'5:: |oX1S =4S ‘ :‘\/i\S

s Js& (1)5
K2) 6
(3) 4
Iz s
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(Ascending)

4
e A

2 3 4 5)
FEq T

2 3 4 5
12,222
)5 4 3 2

7°7°7°7

2 3 54
32,352
(4)

(he descending order will be

2 354
7°77 77
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.6 q&deh ol g Hed
| F 3. :l%oQ%| @@@‘ 3_%

35571'-0’3)(\50 %IFITSTZIT_@EZIT%
35 o . cost rlce o_égook is X150. The
< r shopkeeper sellsé;such books for X 275.

51y = 5. -MF what is profit or loss)

— QpP_ P (A) oITH X175

.‘\({S‘o (B) oIT3T X 125

% ) g 175

~ (D) gTfeY < 125

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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‘wmmmwmno

Hier ol § & TRI AT 18T HIa &
E‘&ﬁv—clmmvrr’?m @r_§1450

W g (What will be the cost of

bunldmg a fence around a square park whose

one side is 110 meters long? The fencing rate
is Rs 4.50. pg“meter is)- (91.1.9.9. 1997)

= Ysy ) 1980 .
- wa\qg Yo HRE =4Y0xUsy2) 1886 .

= o =Y

L “‘“’ﬂi <1300 (3) 1786 .
(4) 1686 .
IHOF FIEHF F T 37 daX 7602310280 9T IS Y




6—7 7—8 899 O-T0 10—-11 1112
ime intervals (ITII 21T
*_

(A) 340000 {B) 310000

(C) 280000 (D) 360000
IHOF FIEHF F AT 37 daX 7602310280 9T TFIFH FY




89 Q.9 Find the value of x' in the given figure?

& .
=1l &Y 1S T A'x) T AT FATE?

' X
X :Jé? o i *? (C)a9°
E)_S-j_ \4B) 59 °
(D) 70 °

IHOF FIEHF F T 37 daX 7602310280 9T IS Y
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